Вариант 1. Выберите правильный вариант ответа

1. Производная функции [image: image2.png]flx)



равна:
а) [image: image4.png]





б) [image: image6.png]



;

в) [image: image8.png]



2. Производная функции [image: image10.png]flx)=5e*



равна:
а) [image: image12.png]





б) 
;

в) -5

3. Производная функции [image: image14.png]flx) =23



равна:
а) 


б) 
;

в) [image: image16.png]“In2;




Вариант 2. Выберите правильный вариант ответа

4. Производная функции [image: image18.png]flx)



равна:
а)-5х


б) [image: image20.png]~se




;

в) 

5. Производная функции [image: image22.png]flx) = 2e%



равна:
6. а) [image: image24.png]





б) [image: image26.png]



;

в) 8[image: image28.png]



7. Производная функции [image: image30.png]flx)



равна:
а) [image: image32.png]-In6:






б) [image: image34.png]In2




;

в) 

